WoE. VAR SR
§2.1 BENLAS S A&
f1.2. ZHAS AER, HdE2 Nk, 3 AN EER
MAEEL3 ANEK, K H A BT A BRI H N X
o I WERGT, 1 ~ 3 FREER, 4,5 KRAER
o w=(i,4,k), HF1<i<j<k<5 Q=C3=10.
o JHRX =0 Mw HCICE =11
WREX =1 Mw HCIC2 =6 1
WX =2 Mw HCCE =3 4.
o (X =1} ={w: X(w) =1},
(X <1} ={w: X(w) <1}
o K P({X =1}) fAlid NP(X = 1). i,

PX=1)=5L, PX<1)=%.

(MERGETA) FRKIIT A hilfEd: mEE. KR



B1.6. ARG EEIE10 min 27 — W RSB AT FRIA. FIf
B BEWLAEAT B 21 B8 42 k.

o MFEZERFIa]X (FALT: min) NFEHLAR &

o 0 < X <10.

o JLfTHERL (Z[%§1.8): i,

P(X<3)=1%, PR2<X<6)=—.

(RERGEiTA) BERLIT A hilfEd: mEE. KR



